Math 099 - Final Exam Name __Key
December 5, 2018 Score

Show all work. Supply explanations when necessary. Partial credit will be awarded for
correct work. You may use your calculator unless otherwise indicated.

1. (2 points) Which specific operation would you do first in the following expression?
(Tell exactly what operation you should do.)

4-(32-17)+9

t

3 = q Comes FipsT

2. (2 points) Which specific operation would you do first in the following expression?
(Tell exactly what operation you should do.)

100 x (1.0225)**°
Hx 20 = B0 comet FiReT

3. (4 points) Evaluate each expression without using a calculator. Show your work.

@742 = Trg=[16

(b) 2-2)-22-2-2x(2-2)] = O-Y-9 - raxo7

A
4. (1 point) Give an example of a whole number that is not a natural number.
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5. (1 point) Give an example of a rational number that is not an integer.



6. (2 points) Let A= {z|z € N and z < 8}. Rewrite A in roster notation.

A= 31,8,34,6,6,7 ¢

7. (2 points) Let D = {z |z = 3k + 2 and k € N}.

(a) Give an example of a natural number that is an element of D.

1> 5]

(b) Give an example of a natural number that is not an element of D.
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8. (6 points) Identify each compound equation or inequality as a disjunction or a con-
junction, then solve.

(a) —2z4+7<1 and 6z —10 < 20 Cowd\uoc‘"\ox)
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(b) 3z+5=22+2 or 8z=
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9. (4 points) Use your calculator to evaluate each expression.

7.95 % (8.5 — 3.75)
12.85—9.1 H.443548...

(a)

]

8.78774...

i

0.08725 2%
(b) <1+ 1 >

10. (4 points) Use your calculator to evaluate each expression at the given values.

(a) P- (14 %)™ when P = 1500, r = 4.15%, n = 2, and t = 25

¥ Y(88.64
(b) R-[1— (14 Z)~™] when R = 1000, r = 8.25%, n = 12, and t = 15
N 0B, bl

11. (2 points) Round each number to the indicated place.

. (a) 8,657,331.95 to the nearest thousand

8,6 57, 000.00

(b) 59.82645 to the nearest ten thousandth

!
59.85650



12. (1 point) Write 9.375% in decimal form.
— —~

(0.09375 |

T

13. (1 point) Write 0.0675 in percent form.

[ 6.715%, |
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14. (2 points) What is 20% of 1507

0.90 x \50 =

15. (2 points) What percent of 75 is 57

[1x75=5
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16. (2 points) 15% of what is 907

0.15x 1= 9o

G0

17. (2 points) The advertised price of a 2nd generation Amazon Echo Plus is $149.99. The
sales tax rate is 8.75%. What is the total cost of the device?

Tax = 00875 x \Mq.%% = /3./9
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18. (3 points) How much time is required to double an investment at 5.25% simple interest?
P< loo = A= 900
= T=loo0  100= 100 (0.6535) %

JC‘ 0.0535 v

19. (2 points) If you knew the value of,999!, how could you use it to compute 1000!?

loos ' = 4991 x \s00

20. (5 points) Compute each of the following.
(a) 9!

Ax8x Tx x5 x Yx3xax| = {'36;);%80 \‘
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